

$Y'' - Y' - 6Y = 0$ $Y(0) = 1$, $Y'(0) = -1$ USING LAPLACE TRANSFORM TO SOLVE INITIAL VALUE

$Y'' - Y' - 6Y = 0$ $Y(0) = 1$, $Y'(0) = -1$ USING LAPLACE TRANSFORM TO SOLVE INITIAL VALUE

SOLVING DIFFERENTIAL EQUATIONS IS A FUNDAMENTAL ASPECT OF MATHEMATICAL ANALYSIS, ESPECIALLY IN ENGINEERING, PHYSICS, AND APPLIED SCIENCES. ONE POWERFUL METHOD FOR SOLVING LINEAR ORDINARY DIFFERENTIAL EQUATIONS (ODEs) WITH INITIAL CONDITIONS IS THE LAPLACE TRANSFORM. IN THIS ARTICLE, WE EXPLORE HOW TO USE THE LAPLACE TRANSFORM TO SOLVE THE SECOND-ORDER DIFFERENTIAL EQUATION:

UNDERSTANDING THE DIFFERENTIAL EQUATION AND INITIAL CONDITIONS

THE DIFFERENTIAL EQUATION

THE DIFFERENTIAL EQUATION UNDER CONSIDERATION IS:

$$Y'' - Y' - 6Y = 0$$

THIS IS A LINEAR SECOND-ORDER HOMOGENEOUS DIFFERENTIAL EQUATION WITH CONSTANT COEFFICIENTS.

INITIAL CONDITIONS

THE INITIAL CONDITIONS PROVIDED ARE:

$$Y(0) = 1$$

$$Y'(0) = -1$$

THESE INITIAL CONDITIONS ARE CRUCIAL FOR FINDING A UNIQUE SOLUTION TO THE DIFFERENTIAL EQUATION USING THE LAPLACE TRANSFORM METHOD.

APPLYING THE LAPLACE TRANSFORM

STEP 1: TAKE THE LAPLACE TRANSFORM OF BOTH SIDES

RECALL THAT THE LAPLACE TRANSFORM OF A FUNCTION $Y(t)$ IS DEFINED AS:

$$\mathcal{L}\{Y(t)\} = Y(s) = \int_0^{\infty} e^{-st} Y(t) dt$$

APPLYING THE LAPLACE TRANSFORM TO THE DIFFERENTIAL EQUATION:

$$\mathcal{L}\{Y'' - Y' - 6Y\} = 0$$

USING LINEARITY:

$$\mathcal{L}\{Y''\} - \mathcal{L}\{Y'\} - 6\mathcal{L}\{Y\} = 0$$

STEP 2: USE THE PROPERTIES OF LAPLACE TRANSFORM

THE LAPLACE TRANSFORM OF DERIVATIVES ARE:

$$L\{Y'\} = sY(s) - Y(0)$$

$$L\{Y''\} = s^2Y(s) - sY(0) - Y'(0)$$

SUBSTITUTING THE INITIAL CONDITIONS:

$$Y(0) = 1$$

$$Y'(0) = -1$$

WE GET:

$$L\{Y''\} = s^2Y(s) - s \cdot 1 - (-1) = s^2Y(s) - s + 1$$

SIMILARLY,

$$L\{Y'\} = sY(s) - Y(0) = sY(s) - 1$$

AND,

$$L\{Y\} = Y(s)$$

STEP 3: WRITE THE TRANSFORMED EQUATION

PUTTING ALL INTO THE TRANSFORMED DIFFERENTIAL EQUATION:

$$[s^2Y(s) - s + 1] - [sY(s) - 1] - 6Y(s) = 0$$

SIMPLIFY:

$$s^2Y(s) - s + 1 - sY(s) + 1 - 6Y(s) = 0$$

COMBINE LIKE TERMS:

$$(s^2Y(s) - sY(s) - 6Y(s)) + (-s + 1 + 1) = 0$$

FACTOR $Y(s)$:

$$Y(s)(s^2 - s - 6) + (-s + 2) = 0$$

SOLVING FOR $Y(s)$

STEP 4: ISOLATE $Y(s)$

REARRANGED:

$$Y(s)(s^2 - s - 6) = s - 2$$

THEREFORE,

$$Y(s) = (s - 2) / (s^2 - s - 6)$$

STEP 5: FACTOR THE DENOMINATOR

FACTOR THE QUADRATIC:

$$s^2 - s - 6 = (s - 3)(s + 2)$$

THUS,

$$Y(s) = (s - 2) / [(s - 3)(s + 2)]$$

INVERSE LAPLACE TRANSFORM TO FIND Y(T)

STEP 6: PARTIAL FRACTION DECOMPOSITION

EXPRESS $Y(s)$ AS PARTIAL FRACTIONS:

$$(s - 2) / [(s - 3)(s + 2)] = A / (s - 3) + B / (s + 2)$$

MULTIPLY BOTH SIDES BY $(s - 3)(s + 2)$:

$$s - 2 = A(s + 2) + B(s - 3)$$

SET UP EQUATIONS TO SOLVE FOR A AND B:

FOR $s = 3$:

$$3 - 2 = A(3 + 2) + B(3 - 3)$$

$$1 = A(5) + B(0)$$

$$A = 1/5$$

FOR $s = -2$:

$$-2 - 2 = A(-2 + 2) + B(-2 - 3)$$

$$-4 = A(0) + B(-5)$$

$$B = 4/5$$

STEP 7: WRITE THE PARTIAL FRACTIONS

$$Y(s) = (1/5) / (s - 3) + (4/5) / (s + 2)$$

STEP 8: FIND THE INVERSE LAPLACE TRANSFORM

RECALL:

$$\mathcal{L}^{-1} \{ 1 / (s - a) \} = e^{at}$$

So,

$$y(t) = (1/5) e^{3t} + (4/5) e^{-2t}$$

THIS IS THE PARTICULAR SOLUTION SATISFYING THE INITIAL CONDITIONS.

FINAL SOLUTION AND INTERPRETATION

THE SOLUTION TO THE INITIAL VALUE PROBLEM:

$$Y'' - Y' - 6Y = 0$$

WITH INITIAL CONDITIONS $Y(0) = 1$ AND $Y'(0) = -1$, IS:

$$y(t) = (1/5) e^{3t} + (4/5) e^{-2t}$$

THIS SOLUTION DESCRIBES THE BEHAVIOR OF THE SYSTEM MODELED BY THE DIFFERENTIAL EQUATION, OFTEN REPRESENTING PHYSICAL PHENOMENA SUCH AS OSCILLATIONS, VIBRATIONS, OR ELECTRICAL CIRCUITS.

BENEFITS OF USING LAPLACE TRANSFORM IN DIFFERENTIAL EQUATIONS

EASE OF HANDLING INITIAL CONDITIONS

THE LAPLACE TRANSFORM NATURALLY INCORPORATES INITIAL CONDITIONS, SIMPLIFYING THE PROCESS OF SOLVING INITIAL VALUE PROBLEMS.

REDUCTION OF DIFFERENTIAL EQUATIONS TO ALGEBRAIC EQUATIONS

TRANSFORMING DERIVATIVES INTO ALGEBRAIC EXPRESSIONS MAKES SOLVING COMPLEX DIFFERENTIAL EQUATIONS MORE STRAIGHTFORWARD.

APPLICABILITY TO NON-HOMOGENEOUS EQUATIONS

THE LAPLACE TRANSFORM IS EQUALLY EFFECTIVE FOR NON-HOMOGENEOUS EQUATIONS WITH FORCING FUNCTIONS.

SUMMARY

USING THE LAPLACE TRANSFORM TO SOLVE DIFFERENTIAL EQUATIONS INVOLVES TRANSFORMING THE ORIGINAL PROBLEM INTO AN ALGEBRAIC EQUATION IN THE S-DOMAIN, SOLVING FOR THE TRANSFORMED FUNCTION, AND THEN APPLYING THE INVERSE LAPLACE TRANSFORM TO FIND THE SOLUTION IN THE TIME DOMAIN. FOR THE DIFFERENTIAL EQUATION $Y'' - Y' - 6Y = 0$ WITH INITIAL CONDITIONS $Y(0) = 1$ AND $Y'(0) = -1$, THIS PROCESS YIELDS A CLEAR ANALYTICAL SOLUTION:

$$y(t) = (1/5) e^{3t} + (4/5) e^{-2t}$$

THIS METHOD NOT ONLY SIMPLIFIES THE PROCESS BUT ALSO PROVIDES A SYSTEMATIC APPROACH TO SOLVING A WIDE CLASS OF INITIAL VALUE PROBLEMS IN DIFFERENTIAL EQUATIONS.

ADDITIONAL RESOURCES

- UNDERSTANDING LAPLACE TRANSFORM PROPERTIES AND TABLES
- SOLVING DIFFERENTIAL EQUATIONS WITH NON-ZERO INITIAL CONDITIONS
- APPLICATIONS OF LAPLACE TRANSFORM IN ENGINEERING AND PHYSICS

BY MASTERING THE USE OF THE LAPLACE TRANSFORM, STUDENTS AND PROFESSIONALS CAN EFFICIENTLY TACKLE COMPLEX DIFFERENTIAL EQUATIONS, ENSURING ACCURATE AND INSIGHTFUL SOLUTIONS TO REAL-WORLD PROBLEMS.

FREQUENTLY ASKED QUESTIONS

WHAT IS THE DIFFERENTIAL EQUATION GIVEN IN THE PROBLEM?

THE DIFFERENTIAL EQUATION IS $Y'' - Y'' - 6Y = 0$ WITH INITIAL CONDITIONS $Y(0) = 1$ AND $Y'(0) = -1$.

HOW DO YOU APPLY LAPLACE TRANSFORM TO SOLVE THE DIFFERENTIAL EQUATION?

APPLY LAPLACE TRANSFORM TO BOTH SIDES OF THE DIFFERENTIAL EQUATION, CONVERT DERIVATIVES INTO ALGEBRAIC EXPRESSIONS INVOLVING LAPLACE VARIABLE s , AND THEN SOLVE FOR $Y(s)$.

WHAT ARE THE STEPS TO FIND THE SOLUTION $Y(t)$ USING LAPLACE TRANSFORM?

FIRST, TAKE THE LAPLACE TRANSFORM OF THE DIFFERENTIAL EQUATION, SUBSTITUTE INITIAL CONDITIONS, SOLVE FOR $Y(s)$, AND THEN FIND THE INVERSE LAPLACE TRANSFORM TO GET $Y(t)$.

HOW ARE INITIAL CONDITIONS USED IN THE LAPLACE TRANSFORM METHOD?

INITIAL CONDITIONS $Y(0) = 1$ AND $Y'(0) = -1$ ARE USED TO EVALUATE THE LAPLACE TRANSFORMS OF DERIVATIVES, REPLACING DERIVATIVE TERMS WITH ALGEBRAIC EXPRESSIONS INVOLVING s AND INITIAL VALUES.

WHAT IS THE LAPLACE TRANSFORM OF THE DERIVATIVES Y'' AND Y' ?

THE LAPLACE TRANSFORM OF Y'' IS $s^2 Y(s) - s Y(0) - Y'(0)$, AND FOR Y' IT IS $s Y(s) - Y(0)$.

WHAT IS THE FINAL SOLUTION FOR $Y(t)$ AFTER APPLYING LAPLACE TRANSFORM AND INVERSE TRANSFORM?

AFTER SOLVING FOR $Y(s)$ AND APPLYING THE INVERSE LAPLACE TRANSFORM, THE SOLUTION IS $Y(t) = \cos(\sqrt{6} t) + (1/\sqrt{6}) \sin(\sqrt{6} t)$.

WHY IS THE LAPLACE TRANSFORM METHOD ADVANTAGEOUS FOR SOLVING INITIAL VALUE PROBLEMS LIKE THIS?

IT SIMPLIFIES THE PROCESS BY CONVERTING DIFFERENTIAL EQUATIONS INTO ALGEBRAIC EQUATIONS, MAKING IT EASIER TO INCORPORATE INITIAL CONDITIONS AND FIND SOLUTIONS SYSTEMATICALLY.

ADDITIONAL RESOURCES

USING LAPLACE TRANSFORM TO SOLVE INITIAL VALUE PROBLEMS: A STEP-BY-STEP GUIDE

WHEN FACED WITH DIFFERENTIAL EQUATIONS, ESPECIALLY THOSE WITH INITIAL CONDITIONS, THE LAPLACE TRANSFORM TO

SOLVE INITIAL VALUE PROBLEMS OFFERS A POWERFUL AND SYSTEMATIC APPROACH. THIS TECHNIQUE SIMPLIFIES DIFFERENTIAL EQUATIONS INTO ALGEBRAIC EQUATIONS, MAKING IT EASIER TO FIND SOLUTIONS, PARTICULARLY FOR LINEAR ORDINARY DIFFERENTIAL EQUATIONS WITH CONSTANT COEFFICIENTS. IN THIS GUIDE, WE WILL EXPLORE HOW TO APPLY THE LAPLACE TRANSFORM TO SOLVE THE INITIAL VALUE PROBLEM:

$$\left[\begin{aligned} y'' - y' - 6y &= 0, \\ y(0) &= 1, \\ y'(0) &= -1 \end{aligned} \right]$$

DEMONSTRATING EACH STEP IN DETAIL, WITH EXPLANATIONS DESIGNED FOR STUDENTS AND PROFESSIONALS ALIKE.

UNDERSTANDING THE DIFFERENTIAL EQUATION AND INITIAL CONDITIONS

BEFORE APPLYING THE LAPLACE TRANSFORM, LET'S CLARIFY THE PROBLEM:

- DIFFERENTIAL EQUATION: $y'' - y' - 6y = 0$
- INITIAL CONDITIONS: $y(0) = 1$, $y'(0) = -1$

THIS IS A SECOND-ORDER LINEAR HOMOGENEOUS DIFFERENTIAL EQUATION WITH CONSTANT COEFFICIENTS. THE INITIAL CONDITIONS SPECIFY THE VALUE OF THE SOLUTION AND ITS FIRST DERIVATIVE AT $t=0$.

WHY USE THE LAPLACE TRANSFORM?

THE LAPLACE TRANSFORM CONVERTS A DIFFERENTIAL EQUATION IN THE TIME DOMAIN INTO AN ALGEBRAIC EQUATION IN THE COMPLEX FREQUENCY DOMAIN (THE s -DOMAIN). THIS PROCESS SIMPLIFIES THE PROBLEM BECAUSE:

- DERIVATIVES BECOME ALGEBRAIC MULTIPLICATIONS BY s .
- INITIAL CONDITIONS ARE INCORPORATED NATURALLY.
- ONCE ALGEBRAIC, THE EQUATION CAN BE SOLVED FOR THE LAPLACE TRANSFORM OF THE UNKNOWN FUNCTION, $Y(s)$.
- THE INVERSE LAPLACE TRANSFORM THEN YIELDS THE SOLUTION IN THE ORIGINAL DOMAIN.

STEP 1: RECALL THE LAPLACE TRANSFORM DEFINITIONS

THE KEY LAPLACE TRANSFORM PAIRS AND PROPERTIES WE'LL USE:

- $\mathcal{L}\{f(t)\} = F(s) = \int_0^\infty e^{-st} f(t) dt$
- $\mathcal{L}\{y'(t)\} = sY(s) - y(0)$
- $\mathcal{L}\{y''(t)\} = s^2Y(s) - sy(0) - y'(0)$

STEP 2: APPLY THE LAPLACE TRANSFORM TO THE DIFFERENTIAL EQUATION

TRANSFORM EACH TERM:

- $y''(t) \rightarrow s^2Y(s) - sy(0) - y'(0)$
- $y'(t) \rightarrow sY(s) - y(0)$
- $y(t) \rightarrow Y(s)$

PLUGGING INTO THE DIFFERENTIAL EQUATION:

$$\left[\begin{aligned} s^2Y(s) - sy(0) - y'(0) - [sY(s) - y(0)] - 6Y(s) &= 0 \end{aligned} \right]$$

NOW, SUBSTITUTE THE KNOWN INITIAL CONDITIONS $(Y(0) = 1)$, $(Y'(0) = -1)$:

$$s^2 Y(s) - s \cdot 1 - (-1) - sY(s) + 1 - 6Y(s) = 0$$

SIMPLIFY:

$$s^2 Y(s) - s + 1 - sY(s) + 1 - 6Y(s) = 0$$

COMBINE LIKE TERMS:

$$(s^2 Y(s) - sY(s) - 6Y(s)) + (-s + 1 + 1) = 0$$

FACTOR $(Y(s))$:

$$Y(s)(s^2 - s - 6) + (-s + 2) = 0$$

REARRANGED:

$$Y(s)(s^2 - s - 6) = s - 2$$

STEP 3: SOLVE FOR $(Y(s))$

DIVIDE BOTH SIDES BY $(s^2 - s - 6)$:

$$Y(s) = \frac{s - 2}{s^2 - s - 6}$$

FACTOR THE DENOMINATOR:

$$s^2 - s - 6 = (s - 3)(s + 2)$$

THUS:

$$Y(s) = \frac{s - 2}{(s - 3)(s + 2)}$$

STEP 4: PARTIAL FRACTION DECOMPOSITION

TO FIND THE INVERSE LAPLACE TRANSFORM, DECOMPOSE $(Y(s))$:

$$Y(s) = \frac{s - 2}{(s - 3)(s + 2)}$$

$$\frac{s-2}{(s-3)(s+2)} = \frac{A}{s-3} + \frac{B}{s+2}$$

MULTIPLY BOTH SIDES BY $(s-3)(s+2)$:

$$s-2 = A(s+2) + B(s-3)$$

SET UP THE EQUATIONS BY EQUATING COEFFICIENTS:

- For (s) : $1 = A + B$
- For CONSTANT TERM: $-2 = 2A - 3B$

SOLVE FOR (A) AND (B) :

FROM THE FIRST:

$$A + B = 1 \Rightarrow B = 1 - A$$

SUBSTITUTE INTO SECOND:

$$-2 = 2A - 3(1 - A) = 2A - 3 + 3A = 5A - 3$$

SOLVE FOR (A) :

$$5A = 1 \Rightarrow A = \frac{1}{5}$$

THEN:

$$B = 1 - \frac{1}{5} = \frac{4}{5}$$

HENCE:

$$Y(s) = \frac{1/5}{s-3} + \frac{4/5}{s+2}$$

STEP 5: FIND THE INVERSE LAPLACE TRANSFORM

RECALL:

$$-\mathcal{L}^{-1}\left\{\frac{1}{s-a}\right\} = e^{at}$$

APPLY THIS TO EACH TERM:

$$Y(t) = \frac{1}{5} e^{3t} + \frac{4}{5} e^{-2t}$$

FINAL SOLUTION:

$$\boxed{\text{SOLUTION: } y(t) = \frac{1}{5} e^{3t} + \frac{4}{5} e^{-2t}}$$

THIS FUNCTION SATISFIES THE INITIAL VALUE PROBLEM, AS VERIFIED BY SUBSTITUTING BACK INTO THE ORIGINAL DIFFERENTIAL EQUATION AND INITIAL CONDITIONS.

SUMMARY AND KEY TAKEAWAYS

- THE LAPLACE TRANSFORM SIMPLIFIES SOLVING LINEAR DIFFERENTIAL EQUATIONS WITH INITIAL CONDITIONS BY CONVERTING DERIVATIVES INTO ALGEBRAIC EXPRESSIONS.
- CORRECTLY APPLYING THE TRANSFORM REQUIRES FAMILIARITY WITH THE PROPERTIES AND INITIAL CONDITION INCORPORATION.
- PARTIAL FRACTION DECOMPOSITION IS OFTEN NECESSARY TO INVERT LAPLACE TRANSFORMS INTO ELEMENTARY FUNCTIONS.
- THE METHOD IS ESPECIALLY ADVANTAGEOUS FOR NONHOMOGENEOUS EQUATIONS OR THOSE WITH FORCING FUNCTIONS, BUT IT IS EQUALLY EFFECTIVE FOR HOMOGENEOUS EQUATIONS AS DEMONSTRATED.

ADDITIONAL TIPS FOR USING LAPLACE TRANSFORMS

- ALWAYS VERIFY YOUR INITIAL CONDITIONS ARE CORRECTLY INCORPORATED.
- FACTOR DENOMINATORS TO FACILITATE PARTIAL FRACTIONS.
- USE TABLES OF LAPLACE TRANSFORMS FOR QUICK INVERSION.
- REMEMBER TO CHECK THE DOMAIN OF CONVERGENCE FOR YOUR TRANSFORMS.
- PRACTICE WITH VARIOUS DIFFERENTIAL EQUATIONS TO BUILD INTUITION AND SPEED.

CONCLUSION

THE LAPLACE TRANSFORM TO SOLVE INITIAL VALUE PROBLEMS PROVIDES A STRUCTURED PATHWAY FROM DIFFERENTIAL EQUATIONS TO EXPLICIT SOLUTIONS. BY TRANSFORMING THE PROBLEM INTO THE ALGEBRAIC DOMAIN, SOLVING BECOMES STRAIGHTFORWARD, AND THE INVERSE TRANSFORM RECOVERS THE SOLUTION IN THE ORIGINAL DOMAIN. MASTERY OF THIS TECHNIQUE ENHANCES YOUR ANALYTICAL TOOLBOX FOR TACKLING A WIDE ARRAY OF PROBLEMS IN ENGINEERING, PHYSICS, AND APPLIED MATHEMATICS.

IF YOU WANT TO DEEPEN YOUR UNDERSTANDING, CONSIDER PRACTICING WITH DIFFERENT TYPES OF DIFFERENTIAL EQUATIONS AND INITIAL CONDITIONS, OR EXPLORING HOW THE LAPLACE TRANSFORM HANDLES NONHOMOGENEOUS EQUATIONS AND SYSTEMS.

[Using Laplace Transform To Solve Initial Value](#)

Using Laplace Transform To Solve Initial Value

Related Articles

- [Are The Elements Potassium \(k\) And Chlorine \(cl\) Likely To Form A Chemical Bond?](#)
- [How Do Power Plants Generate Electricity? This Is An Integrated Science Question](#)
- [A Cylinder With A Height Of 32 Mm And A Diagonal 40 Mm What Is The Surface Area](#)

[Back to Home](#)